PARTS LIST
ITEM] QTY| PART NO. PART DESCRIPTION LENGTH | UNITWT. | NETWT.
1 | 2 | x-MEP48 4'X 8 WELDED EQUIPMENT RACK BASE 377.38 754.75
2 | 6 | xMPADS 1" SQAURE MODULAR PLATFORM FOOTPAD 17.50 105.02
3 | 1 X-MAW MODULAR EQUIPMENT PLATFORM ACCESS WELDMENT 53.54 53.54
4 | 2 | X-MRAIL2 | 2 HANDRAIL WELDMENT FOR MODULAR EQUIPMENT PLATFORM 29.50 59.00
5 | 6 | XMRAIL4 | 4' HANDRAIL WELDMENT FOR MODULAR EQUIPMENT PLATFORM 60.49 362.92
6 | 4 GRS24 24" X 10' GRIP SPAN BRIDGE CHANNEL 87.48 349.93
j 7 | 4 | xMTRC MODULAR TOP RAIL CORNER SPLICE 1.25 5.02
I 8 | 8 | XMKPC MODULAR KICKER PLATE CORNER SPLICE 4in 1.66 13.25
9 | 5 | XxMTRs MODULAR TOP RAIL STRAIGHT SPLICE 1.88 9.39
10 | 10 | X-MKPS MODULAR KICKER PLATE STRAIGHT SPLICE 6516 in 1.86 18.59
11| 1 X-MSWS WELDED STEP FOR 1 LEVEL MODULAR STEP 52.77 52.77
12 | 4 | X-MPOST | SUPPORT POST FOR EQUIPMENT PLATFORM ICE BRIDGE KITS 92.99 371.97
13 | 4 | x-MPBP BACKING PLATE FOR X-MPOST 8in 8.48 33.90
14 | 8 | x-232698 TRPD-HD SUPPORT PLATE - SITE PRO 1 291/2in 8.72 69.77
15 | 4 PC312 3-1/2" FENCE POST CAP 0.59 2.34
16 | 8 SCP CLAMP HALF, 1/2" x 5-3/4" 1.29 10.34
17 | 8 | SHCM-T CHAIN MOUNT TIGHTENER BRACKET 3in 1.86 14.87
18 | 16 X-JB8 J-BOLT, 3/8" X 8" X 6" THREADED 0.33 5.29
19 | 16 | sawas 3/8" SQUARE WASHER 2in 0.29 4.63
20 | 16 | G3sLW 3/8" HDG LOCKWASHER 0.01 0.11
21 | 16 | G38NUT 3/8" HDG HEAVY 2H HEX NUT 0.03 0.54
22 | 8 | x-124312 1/2" X 2" X 2" ANGLE SPACER; WITH 9/16" HOLE 2in 0.53 4.26
23 | 6 G1R12 1" x 12" THREADED ROD (HDG.) 12in 2.68 16.06
24 | 12 GILW 1" LOCK WASHER 0.09 1.13
25 | 24 | GINUT 1" HDG HEAVY HEX NUT 0.47 11.29
26 | 16 | G58312 5/8" x 3-1/2" HDG HEX BOLT GR5 0.40 6.41
27 | 60 | G58134 5/8" x 1-3/4" HDG BOLT 13/4in 0.27 16.13
28 | 82 | GB58FW 5/8" HDG USS FLATWASHER 118 in 0.07 5.78
29 | 76 | GB58LW 5/8" HDG LOCKWASHER 0.03 1.98
30 | 76 | GB58NUT 5/8" HDG HEAVY 2H HEX NUT 013 9.87
31 | 16 | x-UB1358 1/2" X 3-5/8" X 5-1/2" X 3" GALV U-BOLT 0.77 12.36
32 | 8 G1203 1/2" x 3" HDG HEX BOLT GR5 FULL THREAD 3in 0.22 1.74
33 | 8 G1202 1/2" x 2" HDG HEX BOLT GR5 2in 018 1.41
34 | 32 | G12FW 1/2" HDG USS FLATWASHER 3/32in 0.03 1.09
35 | 48 | G12LW 1/2" HDG LOCKWASHER 118 in 0.01 0.67
36 | 56 | G12NUT 1/2" HDG HEAVY 2H HEX NUT 0.07 2.01
37 | 2 X-COV8 8" HORIZONTAL COV SUPPORT ANGLE 96 in 53.00 106.00
TOTALWT. #| 2419.69
** FOR DETAILS, SEE PAGE 2 **
TOLERANCE NOTES DESCRIPTION %NV
TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: 8'X 8' MODULAR EQUIPMENT PLATFORM 1 Engineering  Atlanta, GA
SAWED, SHEARED AND GAS CUT EDGES (£0.030%) WITH SMALL FOOTPADS, 1 STEP Support Team:  Los Angeles, CA
DRILLED AND GAS CUT HOLES (£ 0.030") - NO CONING OF HOLES AND 8' COV : 1-888-753-7446  Zymouts, N
LASER GUT EDGES AND HOLES (2 0.070") - NO CONING OF HOLES A valmont WP QOVMANY Dallas, TX
BENDS ARE t 1/2 DEGREE
ALL OTHER MACHINING (% 0.030") CPD NO. DRAWN BY ENG. APPROVAL PART NO. N
ALL OTHER ASSEMBLY (2 0.060") CEK  12/1/2016 MEP88-8SH32S1C oz
:"Rgmammﬁ INTHIS DRAWING VALMONT CLASS| SuB | DRAWING USAGE CHECKED BY DWG. NO. : %
NDUSTRIES AND GONSIDERED ATRADE SECRET. o | 81|02 CUSTOMER |BMC 12/13/2016 MEP88-8SH32S1C




DETAIL C

DETAIL B
TYPICAL ALL COV SUPPORT POSTS TYPICALALL
TYPICAL ALL HANDRAIL TO PLATFORM
COV CONNECTIONS DIAGONAL REINFORCEMENT CONNECTIONS CONNECTIONS

10
®

E=

(DEEE
EEEE

DETAIL G

TYPICAL ALL
PLATFORM TO PLATFORM
CONNECTIONS

TYPICAL ALL
STAIR CONNECTIONS

DETAIL D DETAIL E
TYPICAL ALL TYPICAL ALL
STRAIGHT SPLICE CORNER SPLICE
CONNECTIONS CONNECTIONS
TOLERANCE NOTES DESCRIPTION N fors:
TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: 8'X 8' MODULAR EQUIPMENT PLATFORM 1 Engineering  Atlanta, GA
SAWED, SHEARED AND GAS CUT EDGES (£0.030%) WITH SMALL FOOTPADS, 1 STEP Support Team:  Los Angeles, CA
DRILLED AND GAS CUT HOLES (£ 0.030" - NO CONING OF HOLES AND 8' COV . 1-888-753-7446  Plymoutt, IN
LASER GUT EDGES AND HOLES (2 0.070") - NO CONING OF HOLES A valmont 'Y COVMNY Dallas, TX
BENDS ARE t 1/2 DEGREE
ALL OTHER MACHINING ﬂo,oao'? CPD NO. DRAWN BY ENG. APPROVAL PART NO. N
ALL OTHER ASSEMBLY (£ 0.060") CEK  12/1/2016 MEP88-8SH32S1C o3
:"Rgmammﬁ INTHIS DRAWING VALMONT CLASS| SuB | DRAWING USAGE CHECKED BY DWG. NO. m %
5
NDUSTRIES AND CONSIDERED A TRADE SECRET. o | 81|02 CUSTOMER |BMC 12/13/2016 MEP88-8SH32S1C




b

b

' ] it it 1t 211 11|
B = { 11 11 11 1l
124 1/4"
| - i -
0 0| 0 (] 0 0| 0 (]
1] ] . 1] 0 1] . .
o [] [ . [] o d o [ . [} °|
° ] U » L L] . .
de CI0 op 40" de o[fe op
N “
0 ' 0 ) o \ . . .
lo ° ’ " [ o o o . . . o
° . U 1] || o L] . L]
‘ / de oo o ode o[fe o
7" ® | ® | || || ||
TE . ﬁ H 13" TO 18-1/2" H ﬁ
TOLERANCE NOTES DESCRIPTION N fors:
TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: 8'X 8' MODULAR EQUIPMENT PLATFORM % 1 Engineering  Atlanta, GA
SAWED, SHEARED AND GAS CUT EDGES (£ 0.0307) WITH SMALL FOOTPADS, 1 STEP S ots oo A
DRILLED AND GAS CUT HOLES (2 0.030") - NO CONING OF HOLES AND 8' COV . 1-888-753-7446 BNtk
LASER CUT EDGES AND HOLES (£ 0.070") - NO CONING OF HOLES A valmont NY® QOMMNY Dallas, TX
BENDS ARE & 1/2 DEGREE
ALL OTHER MACHINING (£ 0.030") CPD NO. DRAWN BY ENG. APPROVAL PART NO. w
ALL OTHER ASSEMBLY (£ 0.060") CEK 12/1/2016 MEP88-8SH32S1C o3
:"ROPHEIAR’VNOTE: NTHIS VALMONT CLASS| SuB | DRAWING USAGE CHECKED BY DWG. NO. m %
oRAWING N
NDUSTRIES AND CONSIDERED A TRADE SECRET. o | 81|02 CUSTOMER |BMC 12/13/2016 MEP88-8SH32S1C




96"
48" 48"
41172 | 48"

q

— L a alQa ala ala a J
3 3
K X

96" . 4
89 1/2" | I 96" 120"
9 3
A B
]
| 86" |

TOLERANCE NOTES EscRIPTION Cocations:

8' X 8 MODULAR EQUIPMENT PLATFORM

New York, NY

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: % 1 Engineering  Atlanta, GA

SAWED, SHEARED AND GAS CUT EDGES (# 0.030%) WITH SMALL FOOTPADS, 1 STEP Support Team:  Los Angeles, CA

DRILLED AND GAS CUT HOLES (# 0.030") - NO CONING OF HOLES AND 8' COV : 1-888-753-7446  Plymou .

LASER CUT EDGES AND HOLES (£ 0.070" - NO CONING OF HOLES A valmont 4 oouy Dallas, TX

BENDS ARE t 1/2 DEGREE

ALL OTHER MACHINING (% 0.030") CPD NO. DRAWN BY ENG. APPROVAL PART NO. N

ALL OTHER ASSEMBLY (£ 0.060") CEK  12/1/2016 MEP88-8SH32S1C o3

PROPRIETARY NOTE: CLASS| SUB | DRAWING USAGE CHECKED BY DWG. NO. m %
'S

THE DATA AND IN THIS DRAWING VALMONT
INDUSTRIES AND CONSIDERED A 8 OF
VALMONT INDUSTRIES IS STRICTLY PROHIBITED.

81| 02 CUSTOMER

BMC 12/13/2016

MEP88-8SH32S1C




